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Question 1

Question Type: MultipleChoice

What is the function of an RP in a PIM-SM network?

Options:

A- to provide routing to the PIM leaf routers
B- to track sources and recovers on the shared distribution tree
C- to automate the distribution of group-to rendezvous point mappings

D- to connect multicast sources with receivers

Answer:

B

Question 2

Question Type: MultipleChoice




Refer to the exhibit.

Router¥#show running-config | section line vty

line vty O 4

login local

ne vty 5 15

login local

I

Router#show running-config | include usemame

username cisco secret 5 $1ScMETSVINQK0g2BGIt77Tx88U1/00

Refer to the exhibit. Which action automatically enables privilege exec mode when logging in via SSH?

Options:

A- Configure user 'Cisco’ with privilege level 15.
B- Configure a password under the line configuration.
C- Configure privilege level 15 under the line configuration.

D- Configure the enable secret to be the same as the secret for user 'Cisco*.

Answer:

A



Question 3

Question Type: MultipleChoice

Which capability does a distributed virtual switch have?

Options:

A- use advanced IPsec encryption algorithms
B- use floating static routes
C- provide configuration consistency across the hosts

D- run dynamic routing protocols

Answer:

C

Question 4

Question Type: MultipleChoice




Which wireless deployment mode uses a Flex architecture and allows Layer 2 roaming between APs without a physical wireless
controller?

Options:

A- Unified
B- autonomous mode
C- fabric

D- Cisco Mobility Express

Answer:

D

Question 5

Question Type: MultipleChoice

Refer to the exhibit.



Switch{config-ip-sia)# udp-jitter 172 29.139 134 5000
Swilch{config-ip-sia-jitter W frequency 300
Switch({conhg-ip-sia-jitter i exit

Switch{config# ip sla schedule 5 start-time now iife forever
Swit

Refer to the exhibit. What is the result of the IP SLA configuration?

Options:

A- The operation runs 300 times a day
B- The operation runs 5000
C- The rate is configured to repeat every 5 minutes

D- IP SLA is scheduled to run at 3 a.m

Answer:

C

Question 6

Question Type: MultipleChoice




What are two benefits of using Cisco TrustSec? (Choose two.)

Options:

A- consistent network segmentation

B- advanced endpoint protection against malware
C- simplified management of network access

D- unknown file analysis using sandboxing

E- end-to-end traffic encryption

Answer:

A C

Question 7

Question Type: MultipleChoice

When should the MAC authentication bypass feature be used on a switch port?



Options:

A- when authentication is required, but the attached host does not support 802.1X
B- when the attached host supports limited 802.1X
C- when authentication should be bypassed for select hosts based on their MAC address

D- when the attached host supports 802.1X and must authenticate itself based on its MAC address instead of user credentials

Answer:

A
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